5.1 A particle of charge g enters a region of uniform magnetic
field B (pointing into the page). The field deflects the particle a
distance d above the original line of flight, as shown in Fig 5.8.

Is the charge positive or negative? In terms of a, b, c, d B, and

g, find the momentum of the particle.
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5.4 Suppose that the magnetic field in some region has the form

A\
X

B=%

[\

(where k is a constant). Find the force on a square loop (side a), lying in the x y plane and centered at the
origin, if it carries a current /, flowing counterclockwise, when you look down the x axis.
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5.9 Find the magnetic field at point P for each of the steady current configurations shown in Fig. 5.23.
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5.10

a. Find the force on a square loop placed as shown in Fig 5.24(a) near an infinite straight wire. Both the
loop and the straight wire carry a steady current /.

b. Find the force on the triangular loop in F
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5.16

Two long coaxial solenoids each carry a current /, but in opposite directions, as shown in Fig 5.42.
The inner solenoid (radius a) has ny turns per unit length, and the outer one (radius b) has n; turns

per unit length. Find B in each of the three regions: (i) inside the inner solenoid, (ii) between them,
and (iii) outside both.

AAAAA\/\AAAAAA

O A

Figure 5.42

U:Dé Suiﬁ@r /\:23517_/\%

/, O | So (,_@mg) (c’j),/ '{:d !\j:/UbV\,L_
m\ﬁ el N S(7E T

} ) < b
Aot v = b

= GIUFB 77/\(; DIJZCKC,.W 8%

-
- s ==
KB - le + )5? . A r L
e Y I (m-zw }A'\ -
(% - - :;\ o L £ é)
“ TN,
- - ~ > b



